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KR C - |16.8 |20.1 [22.0 |24.9 |28.3 [26.7 [24.0 |20.8 |15.8 [11.9 [10.5 |13.0
PH pH [5.886] 7.7 | 7.5 | 7.3 7577 76| 7875 75]85]|80] 77
BOD mg/0 60 2107 1621|1714 1.7]07|08]05]<0.5[1.2
COD mg/0 90 0.7 0.8 1.8] 20 2831]28]20f22]21]15]16
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TrE=THEE | ne/0 - <0.1]<0.1[<0.11<0.1]<0.1]<0.1[<0.1]<0.1]<0.1|<0.1] 0.1]<0.1
BRIy aROEORSw | mg/0 | 0.03 — — [<0.003] — — — — — [<0.003] — — -
7 AEE W mg/0 1 - — [<o0.1| - - — - — [<o.1| — - -
FHEY AL EW | me/0 1 — | —T<o1l =T -1 -1 -1 = T<.1] =T -1 -
gh Kk 2 DibEW| me/0 | 0.1 — — |<0.01] — — — — — |<o.01] — — —
L2 2 eS| me/e | 0.5 — — [<0.04| — — — — — [<0.04| — — —
EFKKOZEOEW| mg/0 | 0.1 — — |<o0.01] — — — — — |<o.01] — — —
HakeR mg/0 | 0.005 ]| — — |<0.0005] — — — — — J<0.0005] — — —
TIVXVIKERILE Y| me/0 nd — — [<0.0005] — — — — — |<0.0005] — — —
PCB mg/0 | 0.003 | — — [<0.0005] — — — — — |<0.0005] — — —
senasmmEati | mg/ 0 30 — — | <0.5] — — — — — | <0.5] — — —
7= —VEEAE| me/0 — — [<0.02] — — — — — [<0.02] — — —
il A & mg/0 — | = fcootf = =111 - [ccoot|] = =1 —
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DINGEYE mg/0 | 16 — — lo.o4 | — — — - — lo.or | — — —
vogtiiE (BT | me/0 | (8) — — fo.03 | — — — — — fo.03 | — — —
FyzmoxFLo| mg/0 | 0.1 — — [<0.002] — — — — — — — — —
FrIrmuzFLro| mg/d 0.1 — — [<0.0005) — — — — — — — — —
vrmuaAZ | mg/o| 0.2 — — [<0.002] — — — — — — — — —
bR e mg/0 [ 0.02 | — — <o 0002] — _ — — — — — — —
7k 1.2—Y7umuoxz| mg/0 | 0.04 — — |<0.0004] — — — — — — — — —
L1=Y7auzFrr| mg/l 1 — — |<0.002] — — — — — — — — —
va-l2-vree=Frr| mg/l 0.4 — — |<0.004] — — — — — — — — —
LL1-hYZuoo=z| mg/l 3 — — |<0.0005] — — — — — — — — —
LiL2—hyzaexz| mg/0 | 0.06 — — |<0.0006] — — — — — — — — —
L3=v/mru7a| mg/0 | 0.02 — — [<0.0002] — — — — — — — — —
S AT mg/0 | 0.06 — — [<0.006] — — — — — — — — —
DA a4 meg/0 | 0.03 — — [<0.003] — — — — — — — — —
FA_HNT | meg/0 | 0.2 — — [<o.02] — — — — — — — — —
_B mg/0 | 0.1 — — |<0.001] — — — — — — — — —
ELYROZORAY [ me/0 | 0.1 — — |<o.01] — — — — — — — — —
W - EREEVE LAY | me/0 * — — 3.7 — — — — — — — — —
135 £ROZOA | me/0 10 — — los| — — — — — — — — —
L4—UA%% | meg/0| 0.5 — — [<0.05] — — — — — — — — —
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IR T — J15.5 |16.1 |16.0 [17.5 [23.8 |18.8 |18.0 |[16.9 |17.1 |17.3 |17.5 |16.4
BRIRER ms/m| — | 32 [ 24 |21 |27 |21 |22 |27 |34 [40 | 43 |46 | 15
WA A mg/0f — V19 |15 |13 |2 |19 |18 |17 |18 |16 |17 | 17 | 13
TV L AKER mg/0| nd — — |<0.0005] — — — — — — — — —
ok ER mg/0 [0.0005 | — — |<0.0005) — — — — — — — — —
TR UL mg/0 [0.003] — — |<0.0003] — — — — — — — — —
A mg/0|0.01] — — [<0.005| — — — - — - — - —
Y[ IZA= A mg/0]0.05] — — [<o.01f — - — — — — — - —
= mg/0|0.01] — — |<0.005] — — — — — — — — —
BT mg/0| nd | — — |<0.1| — — — — — — — — —
PCB meg/0| nd — — [<0.0005] — — — — — — — — —
NV Z7wvmxF L [mg/e]|0.01] — — [<0.001| — — — — — — — — —
T hZ77vuaxF L |ng/0]0.01] — — |<0.0005] — — — — — — — — —
/A= 0=1 % S mg/0]0.02) — — |<o.002] — — — — — — — — —
VUGEAL R 35 mg/0]0.002] — — |<0.0002] — — — — — — — — —
l.2—YZ7muox X (meg/ofo. 004 — — |<0.0004] — — — — — — — — —
l.1—YZ7vexF L mg/of0.1] — — [<0.002| — — — — — — — — —
l.2—YZvo=F L |mg/0|0. 04 — — |<0.004] — — — — — — — — —
LlL1-=hYVZmu=&|mg/0| 1.O) — — [<0.0005| — - — — — — — - —
.LL2—RrUZmau=xX> |mg/0|0.006] — — |<0.0006] — — — — — — — — —
1.3—Y7uvu a2 |mg/00.002] — — |<0.0002| — - — - — — — — —
F7 T A mg/0]0.006] — — |<0.0008] — — — — — — — — —
DA% me/00.003] — — |<0.0003] — — — — — — — — —
FAR DT mg/0|0.02] — — |<0.002| — - — — — — — - —
RP mg/0|0.01] — — |<o.001] — — — — — — — — —
LY mg/0]0.01) — — [<0.002| — — — — — — — — —
1. 4= A %% mg/0]0.05] — — [<0.005] — — — — — — - - -
saaxg L mg/0 [0.002] — — |<0.0002| — — — — — — — — —
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BRI UL mg/010.003] — — |<0.0003) — — — — — — — — —
A mg/0]0.01] — — [<0.005] — — — — — — — — —
Y iEZA= T mg/0|0.05] — — |<o.01| — - — - — — — - —
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BT mg/0| nd — — |<.1| — — — — — — — - —
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M) Z7muoxsFLr 2 |mg/efo.01] — — |<o.001] — — — — — — — — —
T hr77v0F 12| mg/0]0.01] — — |<0.0005] — — — — — — — — —
DA/A=0=8 8 N4 mg/0[0.02] — — [<0.002| — — — — — — — - —
DUl R 5% mg/0]0.002] — — J<0.0002] — — — - - - - - —
l.2—YZuaua=x X |mng/0]0.004] — — |<0.0004] — — — — — — — — —
L1-YZvvp==F Ly |mg/ef0. 1| — — |<0.002] — — - - - - - — —
l.2—YZ7uuexF L mg/of0 04] — — [<0.004] — — — — — — — - —
LlLl1=RYyZwem=&2|mg/0| 1.O) — — |<0.0005[ — — — — — — — — —
L1L2—RUZwvma=¥%2 |mg/0]0.006] — — [<0.0006] — — — — — — — — —
1.3—Y7uvu a2 |mg/00.002] — — |<0.0002] — — — — — — — — —
F7 T A mg/0]0.006] — — |<0.0008] — — — — — — — — —
AN mg/0|0.003] — — |<0.0003] — — — — — — — — —
FA R HNT mg/0[0.02] — — |<0.002] — — — — — — — — —
_RoB v mg/0]0.01] — — |<o.001] — — — — — — — - -
L mg/0[0.01] — — |<0.002[ — — — — — — — — —
1. 4= %Y meg/0[0.05] — — |<0.005] — - — — — — — — —
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